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1. Answer the following questions as directed : 1xB=8

T SARb R o ST T
(a) If @)
1gcr = lgcr+3

then find r. ((SGET® r 3 TH R F010).

(b) If A={x:xisan integer, x2 <9}, express A in tabular form.

o A ={x:x 9B TS T, X2 <0}, AT SRR RTE 4T
1 |

(c) Evaluate (% F#fa #9) :
‘12 -3 v -1 -2
4 7 4 -6
(d) Which measure of average is very much affected by extreme
values?

memwmﬂmﬁﬂﬁﬂ?

{e) Define scalar matrix with an example.

AT 51 W (e A
(f) Write the 5th term of the following expansion :
o R w(u =1 &1 ;
1 -2y'°

fg) The harmonic mean of 36 and 9 is :
( Fill. in the blank }

36 B 9 T WET THEA .
( 8 3% o8 41 )

C16/38 ( Continued)



(3)
(k) If any two rows of a determinant are interchanged, then the
value of the determinant
(i) remains unchanged
(il becomes double

(i} changes by minus sign

fiv) None of the above
( Choose the correct answer )

1 <1 Fivfieee R @ ¥61 1A ARrER T =, o ARt 1w
i) s =

i) T =W

(it} dTHS foura RTs" =

) TR
o A (% T TR B

2. Answer the following questions : 2x5=10
T PRElE Tew i

fa) 1f (4%

62 =256, n-'i. =1, cov(x, y)=0-8

then find the value of r.
(SRS r 3 9H Befa 111

C16/38 ( Turn Over )



(4)

(b} Using property of determinant, prove that
s of TeER IR s = @
a-b 1 a al b
b-ec 1 bl={b 1 ¢
c—-a 1 c c 1 a

(c) A man travelled 40 km at 5 km per hour and then 32 km at
& km per hour. Find his average speed.

o qFLE ofd 99 5 km @0 40 km =% oS 9OM@ 8 km T
32 km e 3, @ e afeEs B

(d) Find mean deviation about the median of the following
data :

weE wyE TR o o feem fefn e
Marks (¥7) : 31, 39, 40, 29, 35

fe) In the determinant given below, what are the minor and
cofactor of the element a35?

= FARROE agp (TP WA & St A 70

5 6 -3
a=| 4 7 -1
& =4 D

3. Form a matrix of order 2 ¥ 3 where
51 2 % 3 T Ces Ay T TS

v ai 3
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4. The arithmetic mean of samples of sizes 50 and 75 are 75 and x
respectively. If the arithmetic mean of 125 observations of both
the samples taken together is 66, then find x 3

S0 WF 75 CMRFE 15 2wl e wo =@ 75 W x o T
AfEP Fsmca 125 51 (B Ea T 66 =W, (AT x A W B

|
5. Prove that (291 391 @)

l+a 1 1

1 1+a 1 |=a?@a+3)
1 1 l+a

Or / %=1

Solve (AR 1) :
lx+a b e
c x+b a |=0
a b X+c

6. A person borrowed ¥ 7,500 at the rate of 5%% p-a. SI. After 3

years 6 months he paid ¥ 6,485 and a radio, and cleared up the
entire amount to be returned. What is the price of the radio? 3

TE WER 3 T&F 6 TR WA WA 5% T @ € 7,500 YR ww |

R R wwe (ol € 6,485 WF b1 ARE' i (wdy Fawfim w9 «fpm
FAH, AR T w3190

7. Two dice are thrown simultaneously. Find the probability of
getting an odd number on one die and an even number on the
other,

imﬁemmqﬁmﬂﬂﬁmmwﬂwmmm
A o A e o
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10. Draw the graph of any one of the following inequalities : = 5
& il I 1 ST (7Y e 9

i) Tx+3y=<21, xz21, y=22

(i) x-2y<3, 3x+4y>12, x20, y21

B
EJ be 160, then find the value

11. If the coefficient of x2 in [12 +
x

of k. =

6
!Iﬁ[x‘ JE) Rl x° 779 160 W, (TR’ k3 WW fifa 4 |
Or / 5

2n
Prove that the middle term of the expansion [.x+ l] is
X

1.3.5.-.@n-1)
Ln 5

2n
‘Hﬂ'l'lﬂﬂ[x-rl) Rufer woeD 5'9
X
1.3.5.-.2n-1) o
Ln
12. A committee of 6 is to be formed out of 7 men and 4 ladies. In
how many ways can the committee be formed, if it includes—
(a) at least 2 ladies;
(b) at most 2 ladies? 5
7 & o A 4 AR TR A 9% 6 whm 3R o ¥R s 1 R
el TFAGIA o2R I 1 IR, wez Fhbree—
(@) TS 2 T T,
{b) i 2 A 1,

HEET FAT A7
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13. Manish buys a bike by giving ¥ 15,000 cash and the balance in
15 equal annual instalments of ¥ 10,000 each. If the rate of
interest is 16% p.a. compounded annually, how much he
should have paid, if he had bought it cash down? 5

Bw a9 759 shgem = © 15,000 &F 15061 © 10,000 % A
e Rfca | =1 74 TR s 16% 2 (TR =W | CoToefafA A fi
=i Ty Bm b T we, B =

Or / %

The difference between simple and compound interest on a
certain sum of money for 3 years @ 5% p.a. is ¥ 76-25. Find the
sum, simple interest and the compound interest. 5
A G5 P S A 5% WA 3 T A [ HF Brfa TS
o € 76-25 T, T, T S WiF vafa 7S w90

14. A computer while calculating r between two variables x and y
obtained the following results :

Ex =125, Ty =100, Exy = 508, Zx* = 650, Zy* =460

It was however discovered at the time of checking that two pair
of observations were not correctly copied. These were taken as

(6,14) and (8, 6), while the correct values were (8, 12) and (6, 8).
Find the correct value of r. 9

it SRS [ 1 x WEF y 1 T AT S TR 0FTS e
TSR (T 7'

Tx =125, Zy =100, Txy = 508, x? =650, Ty? =460
e s = FETS (7N 9T @ TR RETHR W I (6, 14) W

(8, 6) Bea TR CefeE | e 9w W WA (8, 12) W (6, 8) | r 1 wE TN
Ffr
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15. {a) Define a sinking fund.
1 4T R e i |

(b) Write down the formula for calculating present value of an
immediate annuity if interest is compounded quarterly,
stating the meaning of the symbols used.

S v TRe e e e afiem, o S aREE TR
T el o) | e aRTa 741 e wYEE SEy 3

(c) Awashing machine was purchased 3 years ago for ¥ 31,250

and now its depreciated value is & 16,000. Find the rate
percent of depreciation. 2+1+5=8

mﬁwmmﬁaammrmgsnmmmmﬁ
TS TR S T € 16,000 W, (2020 Sewyd 4 By 391 |

16. (@) Find the arithmetic mean and standard deviation from the
data given below : 4+4=8

T SV TR T S TS e g o

Weight (kg) No. of items

&5+ (kg) T T
10-12 7
12-14 15
19-16 18
16-18 20
18-20 25
20-22 R
22-24 5
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Or / A&

(b) (i) The mean and standard deviation of a series of 20 items
were calculated as 20 kg and 5 kg respectively. But
while calculating an item 13 was misread as 30. Find

the correct standard deviation. 4
00 B WRIHTA YA T wF Yo Ree @ 20 kg W
5 kg, B8 T TR TS 0] SCLHH T 13 7 SFR $LS 30
i w1 Caf | o W e A T
{ij) Find the mode of the distribution given below : 4
TR U [ T A 0
Family No. of families
Expenditure (¥) A G T
«f{area ¥ (F)
40-59 25
60-79 130
80-99 250
100-119 70
120-139 25
17. (a) If standard deviation of xj, X2,*, Xz be O, then SD of
Sx1 -2, 5% =2,y 5xp —= 2 will e . 1
( Fill in the blank )
| xy, X aXe F TR feH o W, OERT
5xq -2, 5xg =2+, 9%n - 23 TWe R 23 ;
( =i 5% s+ )
(b) Standard deviation is 5/6 times of quartile deviation. 1
' ( Write True or False )
s Rver, veae R 5/6 €11
( 3w 7 =T o )
(c) Show that (cryea ) 1 2
np =" 1Py +(r-0"" Frog
( Continued)
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(d) From the data given below, find the coefficient of quartle
deviation : 4

SR T o s (en g fady g

Class Interval Frequency

o) wgare A
25-35 2
35-45 10
45-55 25
55-65 16
65-75 7
18. (a) Evaluate (%= fdfu 24) - 1

e, - e, e, e,
) In which of the following two cases mode 15 used? 1
() Sale of ready made parments
fi} Intelligence of students in a class
T (FAD (WL ATAT AL A 5y
(i) Towd e AF ovae
fii) <1 cite wawda hewa) e cn e

fc) 2 cards are drawn simultancously from a pack of cards
Find the probability of ebtaining—

i) 1 spade and | heart;
fi) 2 cards of the same colour, 3+3=6

mmwacwﬂmmﬂqmm‘mmrm
g Cle ¥ S

fij &% TR e W @A T Bl
() STUTNH EWUTE &0F A4,

(e wgrfde fadfy a0
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